Multiplying Monomials - Puzzle Mok
L (]
Simplify and match the corresponding answer from the given letter

codes and solve the puzzle at the bottom that has the given question
numbers.

(> (22%) (3a) 2> (4m)(-n%) 3> (-12p?) (-12p?) & (%) (x°)

&> (pa’) (10pta) (6> (4)(162) &> (22)°(3)
(yz) (y2)° (9 (d) (cd) (79%p) (-3p)
an (d)? (5abd) a2 (rs) (r'p) a3 (x°y) (x)

Letter Code

A 122 © -21p*q? & 10p°q° H x
@ 5ab?d? @ -Xx°y @ 64z @ y'0z'° @ pr’s
M 54a° > 144p* (> d? -4mn’®
/
Puzzle
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Answers

Q> (22%) (3a) Q> (4m)(-n%) 3> (-12p?) (-12p?) & (-x) (x°)

5438 -4mn°® 144p* -x8
> (pa’) (10pta) (6> (4)(162) &> (22)°(3)
10p°q° 64z 1222
(yz) (y2)° (9 (d) (cd) (79%p) (-3p)
y1OZ10 c2d2 _2‘] p2q2
an (d)? (5abd) a2 (rs) (r'p) a3 (x°y) (x)
5ab?d? pris -x°y

Letter Code

A 122 © -21p*q? & 10p°q° H x
@ 5ab?d? @ -Xx°y @ 64z @ y'°z' @ pr’s
M 54a° > 144p* OXLE -4mn’®
/
Puzzle




